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In parametric mode, give the settings needed to produce the following.
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—_ ) 8 The height-of an isosceles trapezoid is 6 units and the bases have
77 The radius of circle O is 13 ¢m and the length of AB is 10.cm. Find 4 units and 20 units. Find the measures of the angles.

the measure of LAOB.
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10 Length A 20-foot ladder leaning against the side of a
house makes a 75° angle with the ground (see figure). How
far up the side of the house does the ladder reach?

' A rhombus has sides 5 umits long and its height is 4 units. Find its angles.
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. wiah of a River A biologist wants 10 know the width w |2. Machine Shop Caiculations A sieel plate has the form

of a river in order to properly set instruments for studying
the pollutants in the water. From point A, the biologist
walks downstream 100 feet and sights to point C. From
this sighting, it is determined that 8 = 50° (see Agure).
How wide is the river?
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of § of a circle with a radius of 24 inches. Two 2-inch holes
are to be drilled in the plate positioned as shown in the
figure. Find the coordinates of the center of each hole.




